Order of Operations (A)

Perform the operations in the correct order.

1 1.4 % (1.840.5+2.2)

N

(9.9+55+6.3)+1.8

3.8.6x(6—(4.3+1.2))

4.39% (6+2)—1.2

9

((4449.1)=3) %6

6. (3.4+4.4) x (4.8+0.4)

7. (47— (8—17.8)) x9.6

5. (8.5—5.9) x (4.8 1.6)

9.5.14+3.9— (2.2+4.6)

10. 2x2.1— (2.8 x 1.5)
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Order of Operations (A) Answers

Perform the operations in the correct order.

1 1.4x(1.840.542.2) 6. (3.4+4.4) x (4.8+0.4)
=6.3 =93.6

2. (9.9+55+63)+1.8 7. (4.7—(8—17.8)) x 9.6

3. 8.6% (6— (4.3+1.2)) 8. (8.5—5.9) x (4.8+1.6)

4.39x%(6+2)—12 9.5.143.9—(2.2+4.6)
=10.5 =22

5. ((4.449.1)+3) x 6 10. 2x2.1— (2.8 x 1.5)
=27 =0
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Order of Operations (B)

Perform the operations in the correct order.

1. (8.346)+(4.9—2.3) 6. 0.5+4 x (6.7+9.6)
2. 474+5%+0.1 7. (3+0.4)+02)+1.5
3.5.5%(9.949.9-9) 8. (4.6-0.1)=(5+5)
4. (5.5+5.5) % (6.7+7.2) 9.63+9.9+4.8—1.7
5. (2.4+40.5)x (1.6-0.8) 10. (1.340.1)=7+5.4
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b

(8.3+6)=(4.9-23)
=55

Order of Operations (B) Answers

Perform the operations in the correct order.

6. 0.5-+4 x (6.7+9.6)

=65.7
4.7+5%+0.1 7. (3+0.4)+0.2) = 1.5
55%(9.9+9.9-9) 8. (4.6+0.1)=(5=5)
55+55)x(6.7+7.2) 9.6.34+9.9+4.8—1.7
= 13. =19.3
2.440.5) % (1.6 +0.8) 10. (1.34+0.1)+7+54
=5.8 =5.6
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Order of Operations (C)

Perform the operations in the correct order.

1 (9.7—9.7) x (8.1 —4.6) 6.9.2x (2.8+0.4)+5.8
2. (4.2% (3.1+3.1)) x 2 7.8946.1-3.6+4

3 (0.6—0.6)= (0.1 x7) 5. 5.340.9—(7.1-3.1)
4.754+35x1.8+42.5 9.3+ (1.2x2.5)+2.7
5. (6—(1+3.8))+0.1 10. (3.5+82—4.3)x3
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Order of Operations (C) Answers

Perform the operations in the correct order.

I~

- (9.7=9.7) x (8.1 —4.6) 6.9.2% (2.8+0.4)+5.8
(42x (3.1+3.1)) x 2 7.8.9+6.1—3.6+4

- (0.6—0.6) = (0.1 x7) 8. 5.3+0.9—(7.1—3.1)

=0 =2.2
S+35x1.8+2.5 9.3+ (1.2x2.5)+2.7
16.3 =37
(6—(1+3.8))=0.1 10. (3.5+82—4.3)x3

=12 =222
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Order of Operations (D)

Perform the operations in the correct order.

1 (6.5x(9+4.5))x 7.1 6. (2149.3-3.7)x3
2.574+95-04-17.5 7.(9.6—(1.4+1.8)) x 2.5
3.9.7— (6.1 x (4.9+4.9)) 8. (10— (8.1—3.6))+2.5
4.054+4493-19 9. (1.5+0.1) = (2=0.8)
5.27+9.843.7—1.9 10.1x9+4.8-7.6
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Order of Operations (D) Answers

Perform the operations in the correct order.

( X (9+4.5)) x7.1
=923

95-04-7.5

|| bt
4
bo-l-

9.7 — (6.1 % (4.9+4.9))

=3.6

05+44+93-19
=11.9

. 27+98+37-1.9

=143

6. (2149.3-3.7)x3

=23.1

—(1.4+1.8)) x 2.5

8. (10— (8.1—3.6))=2.5

=2.2
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Order of Operations (E)

Perform the operations in the correct order.

1. (7.6+0.2) = (0.9+0.9) 6. (1.5—6.5)x2.2+7.2
2.9.74+23+2.1x1 7.54+(54% (6.7—6.2))
3. (0.2+2.7) + (4.3+4.3) 8. 0.7x (1.8+1.4+1.8)
4. (84+21)x(49-42) 9.8.14+9.9+5.7+0.3

5. ((3.4—3.4)+1.8)x 5.8 10. (7.8—=3.9) x (2.2+0.2)
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Order of Operations (E) Answers

Perform the operations in the correct order.

1 (7.620.2) = (0.9=0.9) 6. (7.5—6.5)x2.2+7.2
= 38 =94

2.9.7+23+2.1x1 7. 5.4+ (54 % (6.7-6.2))
=14.1 =2

3. (0.242.7) = (4.3+-4.3) 8.0.7x (1.8+ 1.4+ 1.8)
=29 =3.5

4 (8.4+2.1) % (4.9—42) 9.8.14+9.9+57+0.3
=2.8 =37

5. ((3.4—3.4)+1.8)x5.8 10. (7.8—3.9) x (2.2+0.2)
=0 =429
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Order of Operations (F)

Perform the operations in the correct order.

1. (43%x9)x (7.7+7.7) 6. 0.1 x(6.8—2.8)+8.3
2.4451-79+3.2 7. (193707) % 2

3.244+7.6x1.54+4.5 8.9.2+0.9—(8.6-4.4)
4.2149.6-0.4+4.1 9. (9.5% (8.2—4))+3.8
5. (8.244.8)x(7-5.2) 10. (8% 1.8)+(9.4+4.7)
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Order of Operations (F) Answers

Perform the operations in the correct order.

1. (43x9)x (7.7+1.7) 6. 0.1 x (6.8—2.8)+8.3
=38.7 =8.7
2.4+451-79+32 7. (103307) x 2
=4.4 =2
3.24+7.6x1.5+4.5 8.9.240.9— (8.6 —4.4)
=18.3 =59
4.21+9.6-0.4+4.1 9. (9.5%(8.2—4))+3.8
=15.4 =105
5. (8.2+4.8) x (7—5.2) 10. (8 x 1.8) = (9.4 +4.7)
=23.4 =72
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Order of Operations (G)

Perform the operations in the correct order.

—

1 x(23%x5-17.3)

2. 8.6—(4—3.8)+2.7

.0.7x94+0.8+38

W

4. (5.6+4—1.4)x8.5

9

145.4—(9.1+6.5)

6. 84+89—-28+6

7.844+4.6+7.8—-8.8

8. (79x(8+1))+0.8

9. 1.44+1.24+4.4+1

10. (8.1+(8.4+5.6))+-0.6
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Order of Operations (G) Answers

Perform the operations in the correct order.

1 1x(23x5-7.3) 6. 8344+89—-2.8+4+6
=4.2 =20.5

2. 8.6— (4—3.8)+2.7 7.84+4.6+78—8.8
=11.1 =12

3.0.7x940.848 8. (79x(8+1))+0.8
=15.1 =79

4. (5.6 -4—1.4)x8.5 9. 144124441

5. 1+54—(9.1+6.5) 10. (8.1+(8.4+5.6)) 0.6
:5 pum—
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Order of Operations (H)

Perform the operations in the correct order.

1. (24+(23—-1.5))x8.8

2.7.5—(9+4.7—8.5)

3.44—(5.8—(9.9-8.2))

4.1.449.5%x(9.9-6.5)

9

224(53+404)

6. (8x8.1)+0.9)+10

7.09+(2x(4.2+-84))

8. 9.1+1+5.6-4

9. (9.3+5.4+83)+2.5

10.9+5—(2.6—2.1)
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Order of Operations (H) Answers

Perform the operations in the correct order.

6. (8x8.1)+0.9)+10

(2.4+(23-1.5)) x 8.8
=26.4

7.5—(9+4.7—8.5)
=23

44— (5.8—(9.9-8.2))

=0.3

1.449.5 % (9.9—6.5)
=33.7

224(53+404)

=79

7.

9.

=17.2

0.9+ (2% (4.2+8.4))
=0.9

+5.6-4

13
ot

54+83)+25

10. 9+5—(2.6—2.1)
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Order of Operations (I)

Perform the operations in the correct order.

(7.6 (4.1—4)) x 0.2

.6.8—(0.24+5.8—3.8)

(1454-0.6) x5

- (9.4+9.4)x5349.9

. 3.6-((9%x1.4)+3.5)

6. (9.4—3.2)""

7.0.7+3.3+3.2-6.1

8. ((9.5+5.9)+1.4)x4

9.5.5%(9.3-53)—8

10. (3.3+0.6) x (4.2+3)
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Order of Operations (I) Answers

7.6

= (4.1-4))x0.2

15.

8 —

=4.6

=29
(9.4+9.4) x 5.3+9.9
= 15.
3.6+ ((9x 1.4)=3.5)
=1

Perform the operations in the correct order.

(0.2+5.8—3.8)

(1+54-0.6) x5

6. (9.4—3.2)"*

=6.2

7.0.743.34+3.2—-6.1

=1.1

9.5.5% (9.3—5.3)—8

=14

10. (3.3+0.6) x (4.2+3)

=7.7
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Order of Operations (J)

Perform the operations in the correct order.

. 84+1.6+1.8=2 6.6.8— (1.4+4.6)+0.6
2. (44 % (474+7.3))+1.5 7.42%2— (0.6 x 6)
3.7.5%6.6—(6.8—2) 8. ((9.8x4)=1.6)+7
4.2.5%6.4+3.4+4.6 9. ((3.6-0.8) x2) =9
5.494+9.8+42+492 10. 23 x 8 — (5.6 —2.9)
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Order of Operations (J) Answers

Perform the operations in the correct order.

84+1.6+18+2 6. 68— (1.4+4.6)+0.6
=10.9 =14
(44x(474+73))+1.5 7.42x2—(0.6 X6)
=35.2 =4.8
7.5%6.6—(6.8—2) 8. ((9.8x4)=1.6)=7
=44.7 =3.5

25x64+3.4+4.6

— 24

|y
o O
oo+
—\0

9. ((31.6 +0.8)x2)=9

8442492 10. 2.3 x8— (5.6 —2.9)
=15.7
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